EXEEHES

BFR 265F4R 18 EF /K 27437318 RSO
AN Bk (R 265 )
(B - M)
HEERFA) MEERFEB) HEHEA)-B)
? IR | ERRE U 338,798,916 0 338,798,916
RERESHWEINE 202,376 0 202,376
e
2 i -
= H—E XFEHUREEET) 339,001,292 0 339,001,292
B | |AGE 211,938,099 0 211,938,099
e ERE 49,505,486 0 49,505,486
= =HE 51,763,516 0 51,763,516
i e RAmE AN & 26,927,073 0 26,927,073
) (=] = % B <& % 455 U 1R 37 <5 HR AR 4R A 11,384,952 0] A 11,384,952
a Y —E ZEBNEFHE(2) 328,749,222 0] 328,749,222
" H—EREBIRRHEERQ)=(1)-(2) 10,252,070 0 10,252,070
.‘j.
| [ (ZEA SRS IR 1,610,675 0 1,610,675
e AR ML ZF5ci i 70,000 0 70,000
2| FDDY—E R FENSNEE 2,240,235 0 2,240,235
g; H—E REFHHNINIEET4) 3,920,910 0 3,920,910
5| B | Z0hDY—E REHNEH 1,950,102 0 1,950,102
1%
’a") F
. —E ZEBNS 5 FEHG) 1,950,102 0 1,950,102
il H—E X;ESMEREEE(6)=(4)-(5) 1,970,808 0 1,970,808
TR E IR EZE(7)=(3)+(6) 12,222,878 0 12,222,878
AR
Al
=
i R U AE £1(8) 0 0 0
| B |EEEESRE-Nnig 7 0 7
[0))
H
R A1 & HEH) 7 0 7
R I8 E ZEZ5(10)=(8)-(9) A7 0 A7
Ba A S HEEIE R EEE( D=(7D+(10) 12,222,871 0 12,222,871
EAR, FRERUVEEH2) 0 0 0
EANTREFELU3) 0 0 0
LR EEN ISR EEE(14)=(11)-(12)-(13) 12,222,871 0 12,222,871
ﬁf.':
ﬁ AT EAHR L5 B 45 il = 2B (15) 561,812,461 0] 561812461
= LHEA R EEHE NGB ZEZ(16)=(14)+(15) 574,035,332 0 574,035,332
! HEAXLHNEEZ0T) 0 0 0
2 Z DD a1 2 B AR Ea(18) 0 0 0
15 ZDDIE LS r55(19) 0 0 0
=
%8
)
# AR HE BN IS B EEE(20)=(16)+(17)+(18)-(19) 574,035,332 0 574,035,332




